[SFI5EE] ARTTEFER AR E RN
N EE e
o T OB OB Pol
B | & 2 R T F % e fzE 2 = 5
. . i ab; 53 pi=td
14:00 (488 | 15:00 (SMR) | 15:50 (61R) |72 /0B £ 11 ]
1|+
2 | H
3| A
4 | kK |PTARE-2HREFES
5 | K [AZ A CIre =545 8:30) 64E11:30
6 | RIAFEXRA-65) 2~5FFRIKEH 64E11:00 14E11:30 (BT TH)
FEX BEL FIIROEZVTR) N . E——
8 | = |PTAZSEEEAFEF£9:00
9| H
0] A R (2~64F) BFEHEO 2~6%13:45 FiK VELL:15 2~64
FHEWE (4:-64F) 14 FRUEE ' F1%13:45
1]k ZE=(BIR)  BEWE (14) ELL:15 2-3-4% [5-64F
FE FRfEE 2~4E14E§JT§ 5-64E 15 FAR ' 14:00 15:00
FEHEHE (5FF) 14 FIRFEE . . =,
12| K SRk D) 1411:15 [2-3 4:5+6
13| K [BEHE(BF) 1T v P00 O
FEBEHEE 2F-<T) . VA5
14| & VR R de 14F11:15 |2 3+4:5-6
15| +
16| H
. . P - |2~6%
17| A [BER(IR)  14F FRHEE 1411:15 S TRE15:00
18 | kK |2ET) - BRI (64F) VG R BAA 1-2 3:4:5-6 |4-5:6 [O/O|0O|O
19 | /K 1 2-3 4:5-6 4-5-6 [O|O|O|O
20 | A |VTHE % FHE15:00
21| & 12 3:4:5:6 |4-5:6 [O/O|O0O|O
22 | + |[BFHES PTARS FHEHE  XBHhY —& F#13:15
23| H |
24 | H [IREIKRZER
1 FEEVEE BRLA ; CAeE. 5.
25 | K- e el i 213:30 12 3456 456 |O/O|O|O
26 | /K 1 2-3 4:5:6 4-5-6 [O|O|O|O
27 | K |#ERH#RZ (1-2-54-<F) —F F#15:00
28 | & |1EALMLLES 12 3:4:56 |4-5:6 [O/O|0O|0O
29 | + [HEFnoH
30| H
[5H DFE] T(A)  ARRRER DY —F FR13:20 30K EBELER 4R)AREVOA 5(&)ELOR
i (801 277 MiEz (54E)9:00 110K) Bt 16 (k) EEYS AT
18(K) HEhZ 19(&) EHEFHE WThE 260K ETHOIHRES
= 25(K) FEEMmEEIE  HERRZ 26(&) FRABE Iy UHs FREAREES
27(t) /R RS 29(H) ZE=

% BB DO o, AL CR LT L

£, WROHE . BAVCIoMiESh (LSS 2 ) i3 kL £,




